

ON GENERALIZED JACOBSTHAL AND JACOBSTHAL–LUCAS NUMBERS

DOROTA BRÓD, ADRIAN MICHALSKI 

Abstract. Jacobsthal numbers and Jacobsthal–Lucas numbers are some of the most studied special integer sequences related to the Fibonacci numbers. In this study, we introduce one parameter generalizations of Jacobsthal numbers and Jacobsthal–Lucas numbers. We define two sequences, called generalized Jacobsthal sequence and generalized Jacobsthal–Lucas sequence. We give generating functions, Binet’s formulas for these numbers. Moreover, we obtain some identities, among others Catalan’s, Cassini’s identities and summation formulas for the generalized Jacobsthal numbers and the generalized Jacobsthal–Lucas numbers. These properties generalize the well-known results for classical Jacobsthal numbers and Jacobsthal–Lucas numbers. Additionally, we give a matrix representation of the presented numbers.

1. Introduction

The Jacobsthal sequence $\{J_n\}$ is defined recursively in the following way

$$(1.1) \quad J_0 = 0, \quad J_1 = 1, \quad J_n = J_{n-1} + 2J_{n-2} \quad \text{for } n \geq 2.$$

The Jacobsthal–Lucas sequence $\{j_n\}$ is defined by the same recurrence

$$(1.2) \quad j_n = j_{n-1} + 2j_{n-2} \quad \text{for } n \geq 2$$

with $j_0 = 2, j_1 = 1$.

Received: 05.12.2021. Accepted: 16.06.2022. Published online: 01.07.2022.

(2020) Mathematics Subject Classification: 11B37, 11C20, 15B36 .

Key words and phrases: Jacobsthal numbers, Jacobsthal–Lucas numbers, generalized Jacobsthal numbers, Binet formula.

©2022 The Author(s).

The Binet's formulas of these sequences have the following form

$$J_n = \frac{1}{3}(2^n - (-1)^n), \quad j_n = 2^n + (-1)^n.$$

Some interesting properties of the Jacobsthal numbers are given in [6]. There are many generalizations of this sequence in the literature. We recall some of such generalizations:

- 1) k -Jacobsthal sequence $\{j_{k,n}\}$ ([7]), $j_{k,n+1} = kj_{k,n} + 2j_{k,n-1}$ for $k \geq 1$ and $n \geq 1$ with $j_{k,0} = 0$, $j_{k,1} = 1$,
- 2) k -Jacobsthal sequence $\{J_{k,n}\}$ ([4]), $J_{k,n+1} = J_{k,n} + kJ_{k,n-1}$ for $k \geq 1$ and $n \geq 1$ with $J_{k,0} = 0$, $J_{k,1} = 1$,
- 3) Jacobsthal r -sequence $\{J(r,n)\}$ ([2]), for $r \geq 0$ $J(r,n) = 2^r J(r,n-1) + (2^r + 4^r)J(r,n-2)$ for $n \geq 2$ with $J(r,0) = 1$, $J(r,1) = 1 + 2^{r+1}$.
- 4) Jacobsthal (s,p) -sequence $\{J_n(s,p)\}$ ([1]), for $s, p \geq 0$, $n \geq 2$ $J_n(s,p) = 2^{s+p}J_{n-1}(s,p) + (2^{2s+p} + 2^{s+2p})J_{n-2}(s,p)$ with $J_0(s,p) = 1$, $J_1(s,p) = 2^s + 2^p + 2^{s+p}$.
- 5) Jacobsthal sequence $\{J(d,t,n)\}$ ([10]), $J(d,t,n) = J(d,t,n-1) + tJ(d,t,n-d)$ for $n \geq d$ with $J(d,t,0) = 1$, $J(d,t,n) = 1$ for $n = 1, \dots, d$, $t \geq 1, d \geq 2$.

More considerations concerning certain generalizations of Jacobsthal and Jacobsthal–Lucas numbers were given, among others, in [3, 5, 8, 11].

We introduce a new generalization of classical Jacobsthal and Jacobsthal–Lucas numbers. This generalization depends on one integer parameter k used in the recurrence relation (1.1). We will show some interesting properties of these numbers. They generalize known properties of the numbers J_n and j_n .

2. Generalized Jacobsthal and Jacobsthal–Lucas numbers

For $k = 2$ we obtain $J(2, n) = J_n$ and $j(2, n) = j_n$. By (2.1) we get

$$\begin{aligned} J(k, 2) &= k - 1 \\ J(k, 3) &= k^2 - k + 1 \\ J(k, 4) &= k^3 - k^2 + k - 1 \\ J(k, 5) &= k^4 - k^3 + k^2 - k + 1 \\ J(k, 6) &= k^5 - k^4 + k^3 - k^2 + k - 1 \\ J(k, 7) &= k^6 - k^5 + k^4 - k^3 + k^2 - k + 1 \\ &\vdots \end{aligned}$$

By (2.2) we have

$$\begin{aligned} j(k, 2) &= 3k - 1 \\ j(k, 3) &= 3k^2 - 3k + 1 \\ j(k, 4) &= 3k^3 - 3k^2 + 3k - 1 \\ j(k, 5) &= 3k^4 - 3k^3 + 3k^2 - 3k + 1 \\ j(k, 6) &= 3k^5 - 3k^4 + 3k^3 - 3k^2 + 3k - 1 \\ j(k, 7) &= 3k^6 - 3k^5 + 3k^4 - 3k^3 + 3k^2 - 3k + 1 \\ &\vdots \end{aligned}$$

By the recurrences (2.1) and (2.2) we obtain the following result.

PROPOSITION 2.1. *Let $n \geq 4$, $k \geq 2$. Then*

- (i) $J(k, n) = (k^2 + 1)(k - 1)J(k, n - 3) + k(k^2 - k + 1)J(k, n - 4)$,
- (ii) $j(k, n) = (k^2 + 1)(k - 1)j(k, n - 3) + k(k^2 - k + 1)j(k, n - 4)$.

PROOF. (i) By the formula (2.1) we obtain

$$\begin{aligned} J(k, n) &= (k - 1)J(k, n - 1) + kJ(k, n - 2) \\ &= (k - 1)[(k - 1)J(k, n - 2) + kJ(k, n - 3)] + kJ(k, n - 2) \\ &= (k^2 - k + 1)[(k - 1)J(k, n - 3) + kJ(k, n - 4)] \\ &\quad + (k - 1)kJ(k, n - 3) \\ &= (k^2 + 1)(k - 1)J(k, n - 3) + k(k^2 - k + 1)J(k, n - 4). \end{aligned}$$

It is easily seen that by the recurrence relation (2.1) for $k = 2, 3, \dots$ we get well-known sequences, see [9]. For example, sequences $\{J(2, n)\}$, $\{J(3, n)\}$, $\{J(4, n)\}$, $\{J(5, n)\}$, $\{J(6, n)\}$, $\{J(7, n)\}$ are listed under the symbols A001045, A015518, A015521, A015531, A015540, A015552, respectively.

Tables 1 and 2 include a few first terms of the sequences $\{J(k, n)\}$ and $\{j(k, n)\}$ for special k and n .

Table 1. The terms of $\{J(k, n)\}$ for $2 \leq k \leq 7$ and $n \leq 8$

n	0	1	2	3	4	5	6	7	8
$J(2, n)$	0	1	1	3	5	11	21	43	85
$J(3, n)$	0	1	2	7	20	61	182	547	1640
$J(4, n)$	0	1	3	13	51	205	819	3277	13107
$J(5, n)$	0	1	4	21	104	521	2604	13021	65104
$J(6, n)$	0	1	5	31	185	1111	6665	3991	239945
$J(7, n)$	0	1	6	43	300	2101	14706	102943	720600

Table 2. The terms of $\{j(k, n)\}$ for $2 \leq k \leq 7$ and $n \leq 8$

n	0	1	2	3	4	5	6
-----	---	---	---	---	---	---	---

Now we present the Binet's formulas of the numbers $J(k, n)$ and $j(k, n)$. The characteristic equation of (2.1) is

$$(2.4) \quad r^2 - (k-1)r - k = 0.$$

Since $\Delta = (k+1)^2 > 0$ for $k \geq 2$, we get two real roots of (2.4)

$$r_1 = -1, \quad r_2 = k.$$

Clearly,

$$(2.5) \quad r_1 + r_2 = k - 1,$$

$$(2.6) \quad r_2 - r_1 = k + 1,$$

$$(2.7) \quad r_1 r_2 = -k.$$

THEOREM 2.1 (Binet's formula). *Let $n \geq 0$, $k \geq 2$. Then*

$$(2.8) \quad J(k, n) = \frac{r_2^n - r_1^n}{r_2 - r_1} = \frac{k^n - (-1)^n}{k + 1},$$

$$(2.9) \quad j(k, n) = \frac{(2r_2 - 1)r_1^n + (1 - 2r_1)r_2^n}{r_2 - r_1} = \frac{(2k - 1)(-1)^n + 3k^n}{k + 1}.$$

PROOF. The n th generalized Jacobsthal number may be written in the following form

$$J(k, n) = C_1(-1)^n + C_2k^n$$

for some constants C_1 and C_2 . Using initial conditions of the recurrence (2.1), we obtain the following system of two equations

$$\begin{cases} C_1 + C_2 = 0, \\ -C_1 + kC_2 = 1. \end{cases}$$

Hence

In order to prove (2.9) we write

$$j(k, n) = c_1(-1)^n + c_2k^n.$$

By (2.2) we get

$$\begin{cases} c_1 + c_2 = 2, \\ -c_1 + kc_2 = 1. \end{cases}$$

Hence

$$c_1 = \frac{2k-1}{1+k} \quad \text{and} \quad c_2 = \frac{3}{1+k}$$

and the result follows. $\square$

THEOREM 2.2. *Let $n \geq 0$, $k \geq 2$. Then*

$$3J(k, n) = 2(-1)^{n+1} + j(k, n).$$

PROOF. By (2.8) and (2.9) we get

$$\begin{aligned} 3J(k, n) - j(k, n) &= \frac{3(k^n - (-1)^n) - (2k-1)(-1)^n - 3k^n}{k+1} \\ &= \frac{-(-1)^n(2k+2)}{k+1} = 2(-1)^{n+1}, \end{aligned}$$

which completes the proof. $\square$

3. Some identities for the sequences $\{J(k, n)\}$ and $\{j(k, n)\}$

Now we present interesting properties of the numbers $J(k, n)$ and $j(k, n)$.

THEOREM 3.1. *Let $k \geq 2$ be an integer. Then*

$$(3.1) \quad \lim_{n \rightarrow \infty} \frac{J(k, n+1)}{J(k, n)} = k,$$

$$(3.2) \quad \lim_{n \rightarrow \infty} \frac{j(k, n+1)}{j(k, n)} = k.$$

PROOF. Using Theorem 2.1, we have

$$\lim_{n \rightarrow \infty} \frac{J(k, n+1)}{J(k, n)} = \lim_{n \rightarrow \infty} \frac{C_1 r_1^{n+1} + C_2 r_2^{n+1}}{C_1 r_1^n + C_2 r_2^n} = \lim_{n \rightarrow \infty} \frac{C_1 r_1 \left(\frac{r_1}{r_2}\right)^n + C_2 r_2}{C_1 \left(\frac{r_1}{r_2}\right)^n + C_2}.$$

Since $\lim_{n \rightarrow \infty} \left(\frac{r_1}{r_2}\right)^n = 0$, we get

$$\lim_{n \rightarrow \infty} \frac{J(k, n+1)}{J(k, n)} = r_2 = k.$$

The proof of (3.2) is analogous. □

THEOREM 3.2 (Catalan's identity). *Let $n \geq 1$, $k \geq 2$, $r \geq 0$ be integers. Then*

$$J(k, n-r)J(k, n+r) - J^2(k, n) = (-1)^{n-r+1} k^{n-r} J^2(k, r).$$

PROOF. By formula (2.8) we obtain

$$\begin{aligned} J(k, n-r)J(k, n+r) - J^2(k, n) &= \frac{(r_2^{n-r} - r_1^{n-r}) \cdot (r_2^{n+r} - r_1^{n+r})}{(r_2 - r_1)^2} - \left(\frac{r_2^n - r_1^n}{r_2 - r_1}\right)^2 \\ &= \frac{2r_1^n r_2^n - r_1^{n+r} r_2^{n-r} - r_1^{n-r} r_2^{n+r}}{(r_2 - r_1)^2}. \end{aligned}$$

After simple calculations, using formulas (2.6) and (2.7), we get

$$\begin{aligned} J(k, n-r)J(k, n+r) - J^2(k, n) &= \frac{(r_1 r_2)^n}{(r_2 - r_1)^2} \left(2 - \left(\frac{r_1}{r_2}\right)^r - \left(\frac{r_2}{r_1}\right)^r\right) \\ &= \frac{(-k)^n}{(r_2 - r_1)^2} \left(2 - \frac{r_1^{2r} + r_2^{2r}}{(r_1 r_$$

COROLLARY 3.1 (Cassini's identity). *Let $n \geq 1$, $k \geq 2$. Then*

$$(3.3) \quad J(k, n-1)J(k, n+1) - J^2(k, n) = (-1)^n k^{n-1}.$$

By formula (3.3), taking $k = 2$, we obtain Cassini's formula for the numbers J_n .

COROLLARY 3.2. *For $n \geq 1$ we have*

$$J_{n-1}J_{n+1} - J_n^2 = (-1)^n 2^{n-1}.$$

THEOREM 3.3 (Catalan's identity). *Let $n \geq 1$, $k \geq 2$, $r \geq 0$. Then*

$$j(k, n-r)j(k, n+r) - j^2(k, n) = (6k-3)(-1)^{n-r} k^{n-r} J^2(k, r).$$

PROOF. By (2.9) we have

$$(3.4) \quad j(k, n) = c_1 r_1^n + c_2 r_2^n,$$

where $c_1 = \frac{2k-1}{k+1}$, $c_2 = \frac{3}{k+1}$. Hence

$$\begin{aligned} j(k, n-r)j(k, n+r) - j^2(k, n) &= (c_1 r_1^{n-r} + c_2 r_2^{n-r})(c_1 r_1^{n+r} + c_2 r_2^{n+r}) - (c_1 r_1^n + c_2 r_2^n)^2 \\ &= c_1 c_2 (r_1^{n-r} r_2^{n+r} + r_1^{n+r} r_2^{n-r} - 2(r_1 r_2)^n) \\ &= c_1 c_2 (r_1 r_2)^n \left[\left(\frac{r_1}{r_2} \right)^r + \left(\frac{r_2}{r_1} \right)^r - 2 \right] \\ &= \frac{(2r_2 - 1)(1 - 2r_1)}{(r_2 - r_1)^2} (r_1 r_2)^n \left[\frac{r_1^{2r} - 2(r_1 r_2)^r + r_2^{2r}}{(r_1 r_2)^r} \right] \\ &= (2r_2 - 1)(1 - 2r_1)(r_1 r_2)^{n-r} \left(\frac{r_2^r - r_1^r}{r_2 - r_1} \right)^2.$$

By (3.5) we obtain Cassini's identity for the numbers j_n .

COROLLARY 3.4. *For $n \geq 1$ we have*

$$j_{n-1}j_{n+1} - j_n^2 = 9(-1)^{n-1}2^{n-1}.$$

THEOREM 3.4. *Let k, m, n be integers and $n, m \geq 1$, $m \geq n$, $k \geq 2$. Then*

$$J(k, m)J(k, n+1) - J(k, m+1)J(k, n) = (-k)^n J(k, m-n).$$

PROOF. By (2.8) we obtain

$$\begin{aligned} J(k, m)J(k, n+1) - J(k, m+1)J(k, n) &= \frac{(r_2^m - r_1^m) \cdot (r_2^{n+1} - r_1^{n+1})}{(r_2 - r_1)^2} - \frac{(r_2^{m+1} - r_1^{m+1}) \cdot (r_2^n - r_1^n)}{(r_2 - r_1)^2} \\ &= -\frac{1}{(r_2 - r_1)^2} (r_1^{n+1}r_2^m + r_1^m r_2^{n+1} - r_1^n r_2^{m+1} - r_1^{m+1}r_2^n) \\ &= \frac{1}{(r_2 - r_1)^2} (r_1^n r_2^m (r_2 - r_1) - r_1^m r_2^n (r_2 - r_1)) \\ &= (r_1 r_2)^n \frac{r_2^{m-n} - r_1^{m-n}}{r_2 - r_1} = (-k)^n J(k, m-n). \quad \square \end{aligned}$$

COROLLARY 3.5. *For $m \geq n$ we have*

$$J_m J_{n+1} - J_{m+1} J_n = (-1)^n 2^n J_{m-n}.$$

THEOREM 3.5. *Let $n, m \geq 1$, $m \geq n$, $k \geq 2$. Then*

$$j(k, m)j(k, n+1) - j(k, m+1)j(k, n) = (3-6k)(-k)^n J(k, m-n).$$

PROOF. By (3.4) we have

$$\begin{aligned}
&= -c_1 c_2 (r_2 - r_1) (r_1 r_2)^n (r_2^{m-n} - r_1^{m-n}) \\
&= -c_1 c_2 (r_2 - r_1)^2 (r_1 r_2)^n \cdot \frac{r_2^{m-n} - r_1^{m-n}}{r_2 - r_1} \\
&= -(6k - 3)(-k)^n J(k, m - n). \quad \square
\end{aligned}$$

The next theorems present summation formulas for the presented numbers.

THEOREM 3.6. *Let $n \geq 1$, $k \geq 2$ be integers. Then*

$$(3.6) \quad \sum_{i=0}^n J(k, i) = \frac{J(k, n+1) + kJ(k, n) - 1}{2k - 2},$$

$$(3.7) \quad \sum_{i=0}^n j(k, i) = \frac{j(k, n+1) + kj(k, n) + 2k - 5}{2k - 2}.$$

PROOF. Using the formula (2.8), we obtain

$$\begin{aligned}
\sum_{i=0}^n J(k, i) &= \sum_{i=0}^n (C_1 r_1^i + C_2 r_2^i) = C_1 \frac{1 - r_1^{n+1}}{1 - r_1} + C_2 \frac{1 - r_2^{n+1}}{1 - r_2} \\
&= \frac{C_1 + C_2 - (C_1 r_2 + C_2 r_1) - (C_1 r_1^{n+1} + C_2 r_2^{n+1}) + r_1 r_2 (C_1 r_1^n + C_2 r_2^n)}{1 - (r_1 + r_2) + r_1 r_2} \\
&= \frac{C_1 + C_2 - (C_1 r_2 + C_2 r_1) - J(k, n+1) + r_1 r_2 J(k, n)}{1 - (r_1 + r_2) + r_1 r_2}.
\end{aligned}$$

By simple calculations we obtain

$$(3.8) \quad C_1 r_2 + C_2 r_1 = -1.$$

By (3.8), (2.7) and (2.5) we get

$$\sum_{i=0}^n J(k, i) = \frac{J(k, n+1) + kJ(k, n) - 1}{2k - 2}.$$

Thus

$$\sum_{i=0}^n j(k, i) = \frac{c_1 + c_2 - (c_1 r_2 + c_2 r_1) - j(k, n+1) - k j(k, n)}{2 - 2k}.$$

Using the fact that $c_1 + c_2 = 2$ and

$$c_1 r_2 + c_2 r_1 = \frac{2k^2 - k - 3}{k + 1} = 2k - 3$$

we get the equality (3.7). □

COROLLARY 3.6. *Let $n \in \mathbb{N}$. Then*

$$\begin{aligned} \sum_{i=0}^n J_i &= \frac{J_{n+2} - 1}{2}, \\ \sum_{i=0}^n j_i &= \frac{j_{n+2} - 1}{2}. \end{aligned}$$

THEOREM 3.7. *The generating function of the sequence $\{J(k, n)\}$ has the following form*

$$g(x) = \frac{x}{1 - (k-1)x - kx^2}.$$

PROOF. Let $g(x) = \sum_{n=0}^{\infty} J(k, n)x^n$. Then

$$\begin{aligned} (1 - (k-1)x - kx^2)g(x) &= (1 - (k-1)x - kx^2) \sum_{n=0}^{\infty} J(k, n)x^n \\ &= \sum_{n=0}^{\infty} J(k, n)x^n - (k-1) \sum_{n=0}^{\infty} J(k, n)x^{n+1} - k \sum_{n=0}^{\infty} J(k, n)x^{n+2} \\ &= \sum_{n=2}^{\infty} (J(k, n) - (k-1)J(k, n-1) - kJ(k, n-2))x^n \\ &\quad + (J(k, 0) + J(k, 1)x) - (k-1)J(k, 0)x. \end{aligned}$$

Using recurrence (2.1) we have

$$(1 - (k-1)x - kx^2)g(x) = x.$$

Hence

$$g(x) = \frac{x}{1 - (k-1)x - kx^2},$$

which completes the proof. $\square$

Similarly we get the following result for $\{j(k, n)\}$.

THEOREM 3.8. *The generating function of the sequence $\{j(k, n)\}$ is*

$$G(x) = \frac{2 + (3 - 2k)x}{1 - (k-1)x - kx^2}.$$

In the end we give matrix representations of the numbers $J(k, n)$ and $j(k, n)$.

THEOREM 3.9. *Let $n \geq 1$, $k \geq 2$. Then*

$$(3.9) \quad \begin{bmatrix} J(k, n+1) & J(k, n) \\ J(k, n) & J(k, n-1) \end{bmatrix} = \begin{bmatrix} J(k, 2) & J(k, 1) \\ J(k, 1) & J(k, 0) \end{bmatrix} \cdot \begin{bmatrix} k-1 & 1 \\ k & 0 \end{bmatrix}^{n-1}.$$

PROOF. We use induction on n . If $n = 1$ then the result is obvious. Assuming the formula (3.9) holds for $n \geq 1$, we shall prove it for $n + 1$.

Using induction's hypothesis and formula (2.1), we have

$$\begin{aligned} & \begin{bmatrix} J(k, 2) & J(k, 1) \\ J(k, 1) & J(k, 0) \end{bmatrix} \cdot \begin{bmatrix} k-1 & 1 \\ k & 0 \end{bmatrix}^{n-1} \cdot \begin{bmatrix} k-1 & 1 \\ k & 0 \end{bmatrix} \\ &= \begin{bmatrix} J(k, n+1) & J(k, n) \\ J(k, n) & J(k, n-1) \end{bmatrix} \cdot \begin{bmatrix} k-1 & 1 \\ k & 0 \end{bmatrix} \\ &= \begin{bmatrix} (k-1)J(k, n+1) + kJ(k, n) & J(k, n+1) \\ (k-1)J(k, n) + kJ(k, n-1) & J(k, n) \end{bmatrix} \\ &= \begin{bmatrix} J(k, n+2) & J(k, n+1) \\ J(k, n+1) & J(k, n) \end{bmatrix}, \end{aligned}$$

PROOF. Calculating determinants in formula (3.9), we obtain

$$\begin{aligned} \begin{vmatrix} J(k, n+1) & J(k, n) \\ J(k, n) & J(k, n-1) \end{vmatrix} &= J(k, n+1)J(k, n-1) - J^2(k, n), \\ \begin{vmatrix} J(k, 2) & J(k, 1) \\ J(k, 1) & J(k, 0) \end{vmatrix} &= \begin{vmatrix} k-1 & 1 \\ 1 & 0 \end{vmatrix} = -1, \\ \begin{vmatrix} k-1 & 1 \\ k & 0 \end{vmatrix} &= -k. \end{aligned}$$

By (3.9) we get

$$J(k, n+1)J(k, n-1) - J^2(k, n) = -(-k)^{n-1} = (-1)^n k^{n-1},$$

which completes the proof. $\square$

Similarly to Theorem 3.9 and Corollary 3.7 we can get the next results.

THEOREM 3.10. *Assume that $n \geq 1$, $k \geq 2$ are integers. Then*

$$\begin{bmatrix} j(k, n+1) & j(k, n) \\ j(k, n) & j(k, n-1) \end{bmatrix} = \begin{bmatrix} j(k, 2) & j(k, 1) \\ j(k, 1) & j(k, 0) \end{bmatrix} \cdot \begin{bmatrix} k-1 & 1 \\ k & 0 \end{bmatrix}^{n-1}.$$

COROLLARY 3.8. *For $n \in \mathbb{N}$ we have*

$$j(k, n+1)j(k, n-1) - j^2(k, n) = (6k-3)(-1)^{n-1}k^{n-1}.$$

4. Conclusions

Jacobsthal numbers belong to the family of the Fibonacci type numbers, i.e. numbers which are defined by the homogenous linear recurrence with constant coefficients. Such numbers are often extended to the negative domain, too. Our results obtained for generalized Jacobsthal numbers and generalized Jacobsthal–Lucas numbers may be a contribution to considerations about different one parameter or two parameters generalizations of the Jacobsthal numbers with negative

References

- [1] D. Bród, *On a two-parameter generalization of Jacobsthal numbers and its graph interpretation*, Ann. Univ. Mariae Curie-Skłodowska Sect. A **72** (2018), no. 2, 21–28.
- [2] D. Bród, *On a new Jacobsthal-type sequence*, Ars Combin. **150** (2020), 21–29.
- [3] G.B. Djordjević, *Some generalizations of the Jacobsthal numbers*, Filomat **24** (2010), no. 2, 143–151.
- [4] S. Falcon, *On the k -Jacobsthal numbers*, American Review of Mathematics and Statistics **2** (2014), no. 1, 67–77.
- [5] S. Halici and M. Uysal, *A study on some identities involving (s_k, t) -Jacobsthal numbers*, Notes Number Theory Discrete Math. **26** (2020), no. 4, 74–79.
- [6] A.F. Horadam, *Jacobsthal representation numbers*, Fibonacci Quart. **34** (1996), no. 1, 40–54.
- [7] D. Jhala, K. Sisodiya, and G.P.S. Rathore, *On some identities for k -Jacobsthal numbers*, Int. J. Math. Anal. (Ruse) **7** (2013), no. 12, 551–556.
- [8] F. Köken and D. Bozkurt, *On the Jacobsthal–Lucas numbers by matrix method*, Int. J. Contemp. Math. Sci. **3** (2008), no. 33, 1629–1633.
- [9] N.J.A. Sloane, *The On-Line Encyclopedia of Integer Sequences*. Available at <https://oeis.org/book.html>.
- [10] A. Szynal-Liana, A. Włoch, and I. Włoch, *On generalized Pell numbers generated by Fibonacci and Lucas numbers*, Ars Combin. **115** (2014), 411–423.
- [11] A.A. Wani, P. Catarino, and S. Halici, *On a study of (s, t) -generalized Pell sequence and its matrix sequence*, Punjab Univ. J. Math. (Lahore) **51** (2019), no. 9, 17–32.

RZESZOW UNIVERSITY OF TECHNOLOGY
FACULTY OF MATHEMATICS AND APPLIED PHYSICS
DEPARTMENT OF DISCRETE MATHEMATICS
AL. POWSTAŃCÓW WARSZAWY 8
35-959 RZESZÓW
POLAND
e-mail: dorotab@prz.edu.pl
e-mail: a.michalski@prz.edu.pl